








WWW.FOREST-MASTER.COM

Step 2

Attach the right stabilising

foot(10) to the base using 2 >
M8x16 button head bolts(9) e
and 2 M8 nuts(8). €
M8 nut e

v

7))

<

M8 x 20
Step 3

Attach the left stabilising
foot(14) to the base using 2
M8x16 button head bolts(9)
and 2 M8 nuts(8).

M8 nut

M8 x 20

DUOCUT 10 Ton Manual Log Splitter 9



WWW.FOREST-MASTER.COM

Step 4

Push the return valve knob
(13) over the return valve
stem that protrudes from the
front of the jack at the base
and secure the knob with the
grub screw (12). There is an
indentation is the valve stem
and the grub screw in the
valve knob should be aligned
with this before tightening.

=
Q
€
(%
v
v
<

Step 5

Hook one end of a spring
(4) through the hole in the
lug on the forward end of
the right hand jack arm and
hook the other end through
the hole in the middle of the
vertical face of the platform
support arm. The spring
should be hooked on from
the outside. Repeat for the
other spring on the left hand
jack arm.

10 DUOCUT 10 Ton Manual Log Splitter




WWW.FOREST-MASTER.COM

Step 6

Attach the log platform(16) to
the 2 support arms using the
4 M6 countersunk bolts(18)
and 4 M6 nuts(17).

After attaching, the top
surface of the platform should
be just above the edge of the
lower axe blade. If it is not,
open the jack release valve
and check that the lower axe
blade is fully returned.

Assembly

Step 7

Insert the end of the top
handle(2) (without the hand
grip) through the large holes
at the top of both sides of
the splitter post and push the
remaining hand grip(19) over
the end of the top handle.

DUOCUT 10 Ton Manual Log Splitter 11




WWW.FOREST-MASTER.COM

=
Q
€
(%
v
v
<

12

Step 8

Insert the right foot
pedal(11) into the right hand
jack arm and secure with the
bolt in the top of the arm.

Ensure that the tab on the
lever is positioned pointing
to the inside as shown.

Tab must be
located underneath
the left pedal

Step 10

Step 9

Insert the left foot pedal(14)
into the left hand jack arm
and secure with the bolt in
the top.

Ensure that the tab on the
right hand lever is located
underneath the left hand
lever.

Check that all nuts and bolts have been properly secured. This
check should be made each time the splitter is used.

DUOCUT 10 Ton Manual Log Splitter



WWW.FOREST-MASTER.COM

Know your Duocut

DUOCUT 10 Ton Manual Log Splitter 13




WWW.FOREST-MASTER.COM

Upper axe blade

Locking pin

Log support rail

Hand lever

Lower axe blade

Right foot pedal

Return valve

Left foot pedal

Hydraulic fluid filler plug
0 Log platform

)
S
(%)
®)
S

(@]
S
S
o
>
3
®)
€

N4

— Ol |N|O|V|DhjWIN]|—

14 DUOCUT 10 Ton Manual Log Splitter




WWW.FOREST-MASTER.COM

WARNING! Ensure you read, understand and apply the safety
instructions at the beginning of this manual before use.

WARNING! This system has been designed to prevent the
operator from handling the log during the splitting process.
For safety reasons the operator must not ask a second
person to place or handle the log. The system is designed to
be operated by one person only.

c
@)
-
.
1 S
T,
Q.
o

WARNING! Always split a log along its grain. Never attempt
to split a log laid across the machine as this could be
dangerous for the operator and could seriously damage
the splitter. Never attempt to split a log if it is sitting at an
angle.

WARNING! Never fully unscrew the return valve. One full
turn is sufficient to lower the blade.

Transportation
Carefully tip the log splitter backwards onto it’s wheels,
using the handles to transport it short distances.

Work Site Preparation

Plan the work site beforehand to ensure a safe working
environment and to save effort by positioning the logs so
they can easily be reached. Ensure that the log splitter is
positioned on firm and level ground. Locate site so that the
split wood can be stacked or loaded directly into a suitable
vehicle or trailer.

DUOCUT 10 Ton Manual Log Splitter 15




WWW.FOREST-MASTER.COM

A video showing the correct use
of the splitter can be viewed by
scanning the code to the right or
by going to the following address,
http://www.forest-master.com/
duocut-manual-log-splitter.php.

Step 1

Place the log to be split, onto the
support platform so that the back
of the log is just forward of the
lower blade back plate. Ensure the
log is stable on the platform

Step 2

Pull outwards
simultaneously on the ring
pulls for both of the upper
axe blade locking pins and
lower the blade so it rests
on the top of the log.

16 DUOCUT 10 Ton Manual Log Splitter




WWW.FOREST-MASTER.COM

Step 2a

DO NOT adjust the position
of the blade to locate the

locking pins in a hole. The
blade will automatically lock
as it is raised. ‘

Operation

Check that the jack return
valve is closed. l

o S 4
P _Jg
‘ Step 3

Use the left pedal to gently
raise the lower blade and lift
| the log, this will in turn lift
f the upper blade. Continue
| : raising the log until the
| |' locking pins on the upper

| blade are heard to click
| into place in the next set of
holes. DO NOT steady the
log with your hands, your
hands should be placed on
the top handle for stability.

i

DUOCUT 10 Ton Manual Log Splitter




WWW.FOREST-MASTER.COM

c
5]
r=l
S
S
T,
<3
©)

Step 4

Continue to pump with
the left pedal. As the
blade presses into the
surface of the log the
resistance will increase.
Start pumping with the
right pedal to apply the
full 10 tons of force and
split the log.

Step 5

Once the log begins to split,
the resistance will drop and
you can switch back to the
left pedal to finish splitting
quickly. DO NOT attempt
to assist the log in splitting
with your hands or any form
of implement. With soft
woods it may be possible to
split the log entirely using
the left pedal.

DUOCUT 10 Ton Manual Log Splitter



WWW.FOREST-MASTER.COM

Step 6

Once the log has split,
remove the pieces and stack
them to one side away from
the splitter to keep the work
area clear. Clear any wood
chips that may obstruct
operation away from the
splitter.

Operation

Slowly open the return valve
on the jack no more than
one full turn and allow the
lower axe blade to return to
it’s starting position, then
close the return valve.

Step 1

Stand behind the splitter and
use the top handle to lower
the splitter onto it’s back.

Insert the 2 hand levers into
the foot pedal tubes.

Place a log onto the splitter
so that it is in contact with
the platform then pull the
locking pins outward and
slide the upper blade so that
it touches the log.

© Horizontal Operation

DUOCUT 10 Ton Manual Log Splitter

—



WWW.FOREST-MASTER.COM

Step 2 E;J?\

Stand slightly to the left of the il
splitter and operate the left i}
lever slowly until the locking

pins click into place. "

DO NOT support or steady
the log by hand.

Continue to operate the left
lever. As resistance is felt to
increase the splitter will tend
to lift off the ground. At this
point you should switch to
right lever only operation.

c
(e]
=
(1]
p .
(]
o
o
(1]
-
c
(@]
N
=
(=}
I

push forward

Step 3

Push forward on the left lever with
one hand, this will stop the splitter
lifting and pump with the right
lever to finish splitting the log.

Once the wood starts to split, it
may be possible to switch back to
using the left lever to speed up
splitting

= Remove the split log and stack
f away from the splitter. Clean away

= any debris from the splitter.
20 DUOCUT 10 Ton Manual Log Splitter




WWW.FOREST-MASTER.COM

Step 4

Open the release valve to allow the lower blade to return
then close the release valve.

Anchoring

If the Duocut is being used
on suitable ground, the
end of the Duocut can be
anchored to the ground by
pushing a spike or other
suitable anchor through
the hole in the back of the
splitter post.

<
(=]
=
(1]
S
(]
o
o
I
i)
c
(@]
N
=
o
I

Depending on the structure of the logs you are splitting,
during operation individual logs may split from both

ends or only from the top or bottom. However if a knot is
encountered at one end the splitter will continue to split the
log from the other end.

Wipe down the log splitter to remove tree sap or dirt after
each use and tidy the work area ready for the next work
session.

When the splitter is not in use, thoroughly clean it and store

it in a dry location with the hydraulic pump at it’s lowest
position to minimise corrosion.

DUOCUT 10 Ton Manual Log Splitter 21




WWW.FOREST-MASTER.COM

w
O
c
I
c
[
hd
c
S
=

22

To add oil to the hydraulic jack

Open the return valve and lower the blade to the stop then
apply pressure to the jack’s ram so that it is fully returned.

Position the log splitter vertically and remove the round
rubber oil plug on the front of the jack unit’s housing. Using
a piece of wire or similar, dip into the oil to check it’s level.
It should be immediately below the plug hole. Add hydraulic
jack oil if required, use a small funnel to avoid spilling oil.
Use a good quality hydraulic jack oil.

Replace the rubber oil plug and close the release valve.

After one year the hydraulic oil should be replaced in order to
extend the life of the unit. Use hydraulic jack oil only. It will
be necessary to remove the jack to exchange the oil. Open
the release valve to allow the lower blade to fully return then
apply force to the jack ram to ensure it is fully down.

The jack is secured from underneath by two bolts. Carefully
lie the splitter on it’s back. Place some cardboard or other
packing between the jack and the main beam, remove the
two bolts then lift the jack clear.

jack mounting bolt\L' _

jack mounting bolt

DUOCUT 10 Ton Manual Log Splitter



WWW.FOREST-MASTER.COM

WARNING! DO NOT use brake fluid, or any fluid other than
hydraulic jack oil, as this may cause serious damage to the

pump and will invalidate the warranty. When draining the oil
make sure that no dirt is allowed to enter the hydraulic unit.

Periodically check the hydraulic unit’s pistons and ram

for signs of corrosion. Clean exposed areas with a clean
oiled cloth. DO NOT add any lubricant to the ram, it is self
lubricating.

(<))
()
c
(1]
c
(]
)
c
(1]
=

Lower blade does not return freely
Clean the front surface of the beam and lightly lubricate it.
Hydraulic pump will not lift

The oil level may be low. Check oil level as described and top
up if necessary.

The pump may have air trapped in the system. To eliminate
trapped air, ensure the splitter is vertical, remove the rubber
oil plug on the front of the hydraulic jack. Open the release
valve and pump the foot pedal of the pump through its full
stroke, five or six times. Close the release valve and refit the
rubber oil plug.

Hydraulic pump’s piston ‘O’ ring seal may have become worn.
If this is suspected take the hydraulic jack to a qualified
service person for repair.

IMPORTANT: Only fully qualified personnel should attempt
hydraulic maintenance or repair.

DUOCUT 10 Ton Manual Log Splitter 23




WWW.FOREST-MASTER.COM

NOTE: The maximum force of the hydraulic jack has been
preset to 8 US Tons in order to increase the life of the

unit. Due to the use of twin Duocut blades this should be
sufficient in all circumstances. However the jack can be
adjusted to deliver 10 US Tons of force but this must only be
done by a qualified engineer.

De-commissioning product: Should the product become
completely unserviceable and require disposal, draw off the
oil into an approved container and dispose of the product
and the oil according to local regulations.

This product carries a limited parts warranty for 1 year from
the date of purchase. Please keep your proof of purchase as
this will be required for any claim.

Should this product become defective, contact the store
where it was purchased and either replacement parts will be
issued, it will be repaired or it will be replaced free of charge.

IMPORTANT: NO RESPONSIBILITY IS ACCEPTED FOR
INCORRECT USE OF THIS PRODUCT.

>
)
c
(1]
| S
S
(L]
=

NOTE: It is our policy to continually improve products and as such
we reserve the right to alter data, specifications and component
parts without prior notice.

Manufactured under license for Forest Master Limited.

Registered Office:
Forest Master Ltd, Industry Road, Heaton, Newcastle Upon Tyne,
NE6 5XB, United Kingdom.
Tel: +44 191 2966939
email: info@forest-master.com - web: www.forest-master.com

pL DUOCUT 10 Ton Manual Log Splitter




